ASSEMBLY INSTRUCTION
Drum brake

Ledsagerbrems

Description / Beskrivelse ltem no./ Art. nr.
20” Pneumatic / Luft D 84416
22” Pneumatic / Luft D 84436
24” Pneumatic / Luft (1 84456
20” Compact / Kompakt D 84419
22” Compact / Kompakt D 84439
24” Compact / Kompakt D 84458
Parts for dum brake / Deler til ledsagerbrems - Emineo Basic D 3409994

= Breezy:

MD_MONT-069-drum brake Basic_ EU_EN_NO_Rev. B_2016_05_15



>
2 x ankerplate 2 x festeplate 2 x foring QR 2 x bolt 2 x QR hjulbolt 2 x lasemutter 4 x skive
bolt M6 Nylock
2 x bremse-
handtak % %
2 x hjul 3 x Strips 2 x linseskrue 2 x linseskrue 2 x linseskrue 2 x bremsekloss
M6x16 M6x20 M6x25 forlenget

Preparatory work

1 Put on the push handles.
Remove the wheel. Remove the existing
casing. In order to do this, use a 27 mm
wrench to work loose the nut with washer.
Use a 16 mm wrench to unscrew the
casing.

Keep the washer @ for use under
paragraph 4.

3 Assembling the anchor plate
In order to assemble the anchor plate in the
foremost hole pattern of the wheel base,
see figure 3a. See figure 3b for assembling
in the rear hole pattern.

4 Fixing the anchor plate to the wheel
base
In order to assemble the anchor plate in the
foremost hole pattern of the wheel base,
see figure 4a. Reuse the washer @ from
paragraph 2. See figure 4b for assembling
in the rear hole pattern.

(NOJ

Forberedelser

1
2

Fest bremsehandtakene pa kjerebaylen.
Ta av hjulene og fjern eksisterende
hjulhylser.

Benytt en 27 mm fastnekkel for & lgsne
mutteren med skive. Benytt en 16 mm
fastngkkel for & skru ut selve hjulhylsen.

Ta vare pa skiven @ den skal du benytte
under punkt 4.

Sammenstilling av ankerplaten

Falg figur 3a for montering i fremre
hullbilde av hjulblokka. Felg figur 3b for
montering i bakre hullbilde av hjulblokka.

Montering av ankerplaten i

hjulblokka

Felg figur 4a for montering i fremre
hullbilde av hjulblokka. Felg figur 4b for
montering i bakre hullbilde av hjulblokka,

benytt skiven @ du tok vare pa under
punkt 2.







D

Use at 17 mm socket wrench to tighten
the casing.

Fix the wire @ to the brake handle.

Screw the wire stretcher @ to the most
slack position. Fit the wire stretcher to the
slot in the anchor plate.

To adjust the drum brake, screw out the
wire stretcher step by step. Mount the
wheel and test the brake by spinning the
wheel and squeezing the brake handle.
The wheel should spin easily.

Unscrew the brake block as displayed in
figure 9. Replace with the extended brake
block.

Use strips to fasten the brake-wire. Glue
the wire fixing to the side cover which
is located by the armrest. Use trips to
assemble the brake-wires behind the

back.

(NOJ

Trekk til drivhjulshylsa med en 17 mm
pipengkkel.

Fest vaierenden @ til bremsehendelen.

Skru kabelstrammeren @ til slakkeste
posisjon og fest den til sporet i ankerplata.

For a justere ledsagerbremsen, skrur du
ut kabelstrammeren trinn for trinn, setter
pa hjulet og tester bremsen ved & snurre
hjulet og klemme inn bremsehandtakene.
Hjulet skal trille lett.

Skru ut bremseklossen som vist i
figur 9, og bytt med den nye, lengre
bremseklossen.

Strips fast bremsevaierne sa disse ikke
henger lgst. Lim feste for stripsen pa
sidedekselene ved armlenet. Strips
deretter vaierne sammen bak pa ryggen.







D

Adjusting the seat height and the centre of

11

12

13

gravity

Seat height

In order to move the anchor plate up or
down; unscrew the four screws attaching
the wheel block to the frame. It is not
necessary to remove the anchor plate.

Centre of gravity
Use a 17 mm socket wrench and a 24 mm
spanner to loosen the casing.

Move the anchor plate forward or
backward. In order to use the opposite hole
pattern turn the anchor plate.

The rear hole pattern represents the best
anti-tipping position.

(NOJ

Innstilling av setehgyde og tyngdepunkt

11

12

Setehoyde

Skru ut de 4 skruene som fester hjulblokka
til ramma.

Flytt hjulblokka opp- eller nedover og skru
til skruene igjen. Det er ikke nadvendig a
fierne ankerplata for & justere setehgyden

Tyngdepunkt
Lasne drivhjulshylsen med en 17 mm
pipengkkel og en 24 mm fastnokkel

13 Flytt ankerplata framover eller bakover. Du

kan snu ankerplata for & benytte motsatt
side av hjulbildet. Plassering av ankerplata i
det bakre hjulbildet, gir den mest tippesikre
stolen.







& SUNRISE

N MEDICAL.

Sunrise Medical HCM B.V.
Vossenbeemd 104

5705 CL Helmond

The Netherlands

T:+31 (0)492 593 888
customerservice@sunrisemedical.nl
www.SunriseMedical.eu



